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KALAIMAGAL MATRIC HIGHER SECONDARY SCHOOL, MOHANUR.

STD :XI MATHEMATICS MARKS: 50
DATE: ONE MARK TEST-IV (BB FULLY) TIME: 30 min
Choose the correct answer: 50x1=50
1. The range of the function — IS
1-2sin x
1 1 1 1
1) (o, u(=, 2)(-1,= 3)[-1= 4) (—oo,-1] U=,
) (-0 )U(300) ) ( 3) ) 3] ) (-0 ]U[300)
2. The range of the function f(x) = |[x|-x,xeR is
1)[01] 2) [0, ) 3)[0.1) 4) (0,1)
3. Therule f(x) = x? is a bijection if the domain and the co — domain are given by
)RR 2)R, (0,) 3) (0, »),R 4) [0,0),[0,0)
4. The number of constant functions from a set containing m elements to a set containing n elements
is
1) mn 2)m 3)n 4) m+n
5. Find a so that the sum and product of the roots of the equation 2x?+ (a—3)x+3a—5=0 are equal
IS
N1 2) 2 3)0 4) 4
6. If a and b are the roots of the equation x>—kx+ 16= 0 and satisfy a? + b? =32, then the value
of kis
1) 10 2) -8 3)-8,8 4) 6
7. The number of solutions of x* + |x—1=11s
nH1 2)0 3)2 4)3
8. c0s20 cos2 ¢ +sin?(0 —¢) —sin?(0+¢ ) is equal to
1)sin2(0 + ¢) 2)cos2 (0 + ¢) 3)sin2(6-9) 4)cos2 (6 -9¢)
9. sin(A—B) N sin(B-C) N sin(C - A) ic
cosAcosB cosBcosC cosCcosA
1) sin A + sin B +sinC 2)1 3)0 4) cosA+cosB + cosC
10. If cospO+cosqBO =0and if p= g, then 0 is equal to ( nis any integer)
+
1) n(3n+1) 2) n(2n +1) 3) n(n+1) 2) n(n+2)
P—q p+q ptq P+q
11. In a plane there are 10 points are there out of which 4 points are collinear, then the number of
triangles formed is
1) 110 2)10Cs 3)10! 4) 116
12.DC + ("D C 1y is
1) (n+ 1) Cr 2) ( n_l) Cr 3) n C r 4) nC r-1
13. If 10 lines are drawn in a plane such that no two of them are parallel and no three are concurrent ,
then the total number of point of intersection are
1) 45 2) 40 3)10! 4) 210
14.In?"C3:"C3=11:1then nis
15 2) 6 3) 11 4) 7
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If Sh denotes the sum of n terms of an AP whose common difference is d , the value of
S,—2S,,+S,, is
1)d 2) 2d 3) 4d 4) d?
The remainder when 38'° is divided by 13 is
1) 12 2)1 3)11 4)5
The n™ term of the sequence 1,2,4,7,11,... is
2
1) n®+3n?+2n 2)n® — 3n” +3n 3) nn+1)n+2) +1:)))(n +2) ) R L _2n 2
. The point on the line 2x —3y =5 s equidistance from ( 1,2) and (3,4) is
1) (7.3) 2) (41) 3)(1,-1) 4)(-23)
The image of the point (2,3) in the line y = —x is
1)(_3| _2) 2)(_3! 2) 3)(_2! _3) 4) (3!2)
The length of L from the origin to the Iineg—% =1is
11 5 12 5
1) = 2) — 3) — 4) ——
) 5 ) 12 ) 5 ) 12
The y intercept of the straight line passing through ( 1,3) and perpendicularto 2x—3y + 1=0s

3 9 2 2
1) > 2) 5 3) 3 4) 9
a b c ka kb kc
If A=|x y zthenlkx ky kz|is
p q r kp kg kr
1) A 2) kA 3)3kA 4) K3A
3-x -6 3
A root of the equation | -6 3—X 3 |=0is
3 3 —-6-Xx

1)6 2) 3 3)0 4) -6
0 a -b
The value of the determinantof [Al=|-a 0 ¢ [is
b —-c 0
1) — 2abc 2) abc 3)0 4) a’+b?+c?

If X1, X2, X3 as well as yi, y2, y3 are in geometric progression with the same common ratio then the
points (X1, y1) (X2, y2) , (X3, y3) are

1) vertices of an equilateral triangle 2) vertices of a right angled triangle

3)vertices of a right angled isosceles triangle 4) collinear

If |a+Db|=60,|]a—b |=40,and \6\ =46 then |a |is

1) 42 2) 12 3) 22 4) 32

If daand b having same magnitude and angle between them is 60° and their scalar product is % then
lalis

12 2)3 3)7 4)1
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The value of 0 € (Ogj for which the vectors a=(sin@)i +(cos0) j and b =i—+/3]+2k are

perpendicular , is equal to

T T T T
1) - 2) - 3) — 4) =
)3 )6 )4 )2
If |a|=13, |b|=5and a.b =60 then |axb]is
1) 15 2) 35 3) 45 4) 25
lim sj
SN PX_ 4, then the value of p is
X — 0 tan 3x
1) 6 2)9 3)12 4) 4
M  gin o —cos o "
%_
* 4 -
1) V2 ai% 31 4)2
fim (1 + 2 + + n jIS
BN e e >
n% 2)0 31 4) o
lim esinx_l_
x—>0 x
11 2)e 3) = 4)0
If f(xX)=x+2, then f'(f(x)) at x=14is
1)8 2)1 3) 4 4)5
2
Ify:(1 2x) ,thenﬂis
X
2 2 2 2 2
1) £+=5 2) -S4+ 2 3) -= 4) —=
) x> X3 ) x> X3 ) X2 ) X
If pv=281,then dp atv=9is
dv
1)1 2) -1 3) 2 4) -2
x=5 if x<1
If f(x) = {4x>* -9 if 1l<x<2 ,then the right hand derivative of f(x) at x = 2 is
3x+4 if X>2
1)0 2) 2 3)3 4) 4
2 2
IWcoseCZde is

X“+1

1) cotx + sinx+c ~ 2)—cotx +tan’x +¢ 3) —tanx + cotl x +¢ 4) —cot x —tanx +c

Ixz cos x dx is

1) X2 sinx+ 2x €0S X— 2sin X+C
3) — x?sinx+ 2 XCosX + 2 sin X+

2) X2 sinx — 2 X CosX — 2 sin x+¢
4) — x%sinx — 2xcos X + 2sin x+¢
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[ X s
1+X
1) V1-x? +sin"'x+c

“V1-x2 +c

2) sinlx —v/1-x* +¢

3) log ‘x+\/1—x2 4) J1-x° +Iog‘x+\/1—x2 +C
I dx .
is
e -1
1) logle”|—log ex—]hc 2) logle*|+log ex—]hc
3) Iog‘ex —#—Iog‘exhc 4) logle* +ﬂ—|og e|+c

An urn contains 5 red and 5 black balls. A ball is drawn at random , its colour is noted and is
returned to the urn. Moreover , 2 additional balls of the colour drawn are put in the urn and then a
ball is drawn at random. The probability that the second ball drawn is red will be

5 7

1) — 3) —
) 12 ) 12
A number x is chosen at random from the first 100 natural numbers. Let A be the event of numbers
(x—=10)(x —50)

1 1
2) — 4) =
)2 )4

which satisfies > 0,then P(A) is

x—30
1) 0.20 2) 0.51 3)0.71 4)0.70
If two events A and B are independent such that P (A): 0.35and P(AUB)=0.6, then P(B) is
5 1 4 7
1) — 2) — 3) — 4) —
) 13 ) 13 ) 13 ) 13
If two events A and B are such that P (ﬂ): % and P(AmE ):%then P(ANB) is
1 1 1 1
1) = 2) = 3) = 4) =
) 5 ) 3 ) - ) c
If tana and tanp are the roots of x >+ax+ b=0, then M is equal to
sinasin 3
b a a b
1)— 2) — 3) —— 4) ——
) ) o )4 ) -
Iim etanx _ eX B
x>0 tanx—x
N1 2)3 3) % 4)0
. lim —
Itis given that f (a) exists, then ! Mis
X—a X—a
1) f(a) — af (a) 2)f (a) 3)-f(a) 4) f(a) + af (a)
je‘“ cos x dx is
e—4x e—4X
1) [4 cos x —sin x]+c 2) [4 cos x + sin x]+C
17 17
e—4x e—4X
3) 7 [4 cos x +sin x]+c 4) " [-4 cos x —sin x]+c
If A and B are two events such that P(A) = 0.4, P(B) =0.8 and P(B/A) = 0.6 then P(Zm B) is
1) 0.96 2) 0.24 3) 0.56 4) 0.66
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